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508 /(T
= 7 STKR490
‘ M %k (150 50 x 2.4
g HEEE 359 kg/m
= BT EiE 4.42 cm?2
} W R 3 6.56 cm3
B — RE—AE 16.4 cm4
Brm — REFE 1.93 cm
MR AL 2.06 X 10" N/cm2
. FRETRAE 21.6 kN/om2
HRE AWM NE 12.5 kN/cm?2
‘ AR Ay
FE5E (5Hik) 50K-0.0
£ (m) 1.0 1.5 2.0 25 3.0 35 40 45 5.0 5.5 6.0
5= ko) 3.59 5.39 718 8.98 10.77 12,57 14.36 16.16 17.95 19.75 21.54
£ (m) 7.0 8.0
E= (ke) 25.13 28.72
60 /81T
# =7 STKR400
i RN 0J60 X 60 X 2.3
X 4.06 kg/m
o BT E s 5172 om2
e B R 3K 9.44 cm3
= BRE —RE— AL 28.3 cm4
Brm — REE 2.34 cm
B RER 2.06 X 10" N/cm2
. SRR AR 756 kN/om2
R A NE 8.82 kN/cm2
‘ SRR Ay
FEE (5HE) 60K-0.0
£ (m) 1.0 1.5 2.0 2.5 3.0 3.5 40 45 5.0 5.5 6.0
52 ko) 4.06 6.09 8.12 10.15 12.18 14.21 16.24 18.27 20.30 22.33 24.36
£& (m) 7.0 8.0 9.0 10.0
F= (kg) 2842 3248 36.54 40.60
1006 /84F
" % =7 STKR400
e S 0100 X 100 X 3.2
e HiEs 9.52 kg/m
/ b 12.13 cm2
7 R 3K 37.50 cm3
~ BrE —RE— AL 187.0 cm4
/ B RER 3.93 cm
o B RE 2.06 x 10" N/cm2
> FRE TG AR 15.6 kN/cm2
> HREAMEHE 8.82 kN/cm?2
AR Ay
FEE(HE) 100K-O.0
£ (m) 1.0 15 2.0 25 3.0 35 40 45 5.0 55 6.0
E£ ke 9.52 14.28 19.04 23.80 28.56 33.32 38.08 42.84 47.60 52.36 57.12

BE)R(4T
.% % =& STK500
.v. S $486x2.4
2000 o HREE 2.73 ke/m
'IQZ.I.I. B E R 3.483 cm2
.QAQ'.XQD BT (R 3L 3.83 cm3
550006 BiE—RE—_Ao k| 9.32 omd
%"’"é‘é” BrE— KR 764 om
."? Iév. S (R 2.06 x 10" N/cm2
X X XX \ BRI AE 23.5 kN/cm?2
AN Y INRIRLT SR ARG NE 12.74 kN/cm2
) . ARRER SN AV
FEE (5Hik) STK-0.0
K& (m) 0.5 0.6 0.9 1.0 1.2 15 1.8 2.0 25 2.7 3.0
52 ke 1.37 1.64 2.46 273 3.28 4.10 4.91 5.46 6.83 7.37 8.19
& (m) 35 40 45 5.0 55 6.0 7.0
EE ke 9.56 10.92 12.29 13.65 15.02 16.38 19.11
j<t TAC i
% =5 STK500
YRk $8.8 mm i K $48.6x2.4
EXvERS 2.73 kg/m
ErEiR 3.483 cm2
BrmE R 3.83 cm3
BrE —RE— AV 9.32 cm4
B — RFEF 1.64 cm
FEMERER 2.06% 10" N/cm2
SRR D E 23.5 kN/cm?2
R AEENE 12.74 kN/cm2
\ . BRRER SR Ay
FEE (5Hik) STK-O.0OP
K& (m) 2.0 25 3.0 3.5 40 45 5.0 5.5
£82 ke 5.46 6.83 8.19 9.56 10.92 12.29 13.65 15.02
& BEEEERH (R
BEXvyd 95 ThiN—
T-CAP K-COVER
b o
FILERIAT
100
14 i ABNO1S-T5(JISH4100)
] S 0180 x 100 X 3.2 X 5.8
3.2 XSS 6.591 kg/m
<o ‘ s 2441 cm2
B2 B R AL 126.6 cm3
BrE —RE—AF 1,140 cm4
BRI 7% 10° N/cm?2
— HICLTOERIING BRI AE 13.7 kN/cm2
o FRTAENE 7.84 kN/cm?2
T2 (sT%) 18x10K-0.0
£ (m) 1.0 1.5 2.0 25 3.0 35 40 45 5.0 6.0 7.0
EE ke 6.59 9.89 13.18 16.48 19.77 23.07 26.36 29.66 32.96 39.55 46.14




BrmEfa 17.21 cm2
HiE=s 6.0 kg/m
BrTE2RE— Ak 707 cmé4
o Hr T 1% 2K 72 cm3
2 EIERER 7,000,000 N/cm2
BRI AE 13.60 kN/cm?2
HRBAMEHE 6.86 kN/cm2
XRIDBAM., KSIMIZFERINET
B (sH3E) AL-ALO.O
£ (m) 1.0 1.2 15 1.8 2.0 2.1 2.4 2.75 3.0 3.2 3.6
F= (kg) 6.0 7.2 9.0 10.8 12.0 12.6 14.4 16.5 18.0 19.2 21.6
£E&(m) 3.9 42 45 48 5.4
B8 (kg)| 234 25.2 27.0 28.8 32.4
AN H—
— ErEiR 24.971 cm?2
EXvES 7.8 kg/m
BrE2 RE—A L 1,417 cm4
W R 2 139 cm3
8 RN 7,000,000 N/cm2
BRI AE 13.40 kN/cm?2
SR ARRNE 6.86 kN/cm?2
ZRIDEARM. KEBIMIZERINET
127
F2%8(~Ti%) AL-STO.O
£ (m) 1.0 1.2 15 1.8 2.1 2.4 2.75 3.0 3.2 3.66 3.9
T (kg) 7.8 9.4 11.7 14.0 16.4 18.7 215 234 25.0 28.6 30.4
£ (m) 427 488 5.49
F= (kg) 33.3 38.1 428
ARAV T Ry IF oIV
BrEia 4,348 cm?2
i | HBNES 12.0 kg/m
BrE2 R E—A R 2,348 cm4
B R A 246 cm3
o EIESER 7,000,000 N/cm2
= FRMIFLAE 13.28 kN/cm2
R ABCHE 6.86 kN/cm2
= 2Kty DIETT
=L b l=a _ |
REBZBLEEIEbONES
FE#E (sH3&) AL-SBO.O
£&(m) 1.0 1.2 15 1.8 20 2.09 2.35 2.4 259 275 3.0
F= (kg) 6.0 7.2 9.0 10.8 12.0 125 14.1 14.4 15.5 16.5 18.0
£ (m) 3.6 3.81 488
= (keg) 21.6 22.9 29.3 EEF1ARLYDIETT

® BERE

T-hHE 3mm DEKHFTE kN)

A V-5 RASit

A8 L (mm) 500 1,000 1,500 2,000
HE/NAT 22.12 277 0.82 0.35
508/ N 38.92 4.87 1.44 0.61
60B/NAT 67.16 8.40 2.49 1.05
100F/8 (T 44377 55.47 16.44 6.93
FIVEHINAT 919.30 114.91 34.05 14.36
FILRE—L 570.13 71.27 2112 8.91
AR H— 1,142.67 142.83 42.32 17.85
P N=Pr I 1,893.43 236.68 70.13 29.59

f=h#H = 3mm DEAHFE (N/cm)
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A8 L (mm) 500 1,000 1,500 2,000
BE/IN(T 708 44 9 3
508 /817 1,245 78 15 5
60/ N1 2,149 134 27 8
100/8( 7 14,201 888 175 55
FILSEHINAT 29,417 1,839 363 115
FILIE—L 18,244 1,140 225 71
AR H— 36,565 2285 451 143
=PI 60,590 3,787 748 237
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